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Run 5361 quartetwise, posHQ: Beam DH

Run 5361 quartetwise, negHO: Beam DIN

Run 5361 quartetwise, asym0Osub: Beam ON
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-------- Histogram Vars

Positive Hel (ON): 13.699145 +/- 0.006498
Negative Hel (ON): 12.955832 +/- 0.006202
Positive Hel (OFF): 1.407335 +/- 0.002118
Negative Hel (OFF): 1.412002 +/- 0.002121
-------- Sums and Diffs

On Diff: 0.743313 +/- 0.003808

Off Diff: -0.004667 +/- 0.002621
On Sum: 26.654976 +/- 0.012120

Off Sum: 2.819338 +/- 0.003331
-------- Asymmetries
On Asym: 31.184944 +/- 0.160601 (ppt)
Off Asym: -0.195787 +/- -0.109968 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 23.835639 +/- 0.012569
BkSub Asym: 31.380730 +/- 0.194642 (ppt)




Run 5361 quartetwise, posHO vs time
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Run 5361 quartetwise, asymQOsub vs time
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Run 5361 quartetwise, negHO vs time
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Run 5361 quartetwise, bcm vs time
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